

## ON THE DEGENERATE MULTI-POLY-GENOCCHI POLYNOMIALS AND NUMBERS

JIN-WOO PARK

ABSTRACT. Recently, the degenerate version of special polynomials are defined by many researcher and found some new and interesting identities by using Carlitz's degenerate exponential function.

In this paper, we define the degenerate multi-poly-Genocchi polynomials and numbers and found some interesting relationships between Genocchi polynomials, the falling factorial polynomials and the Stirling numbers of the second kind.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 33E20, 05A30, 11B83, 11S80.

KEYWORDS AND PHRASES. Poly-logarithm function, Genocchi polynomials, degenerate exponential function.

### 1. INTRODUCTION

The *Genocchi numbers* which are defined by the A. Genocchi are defined by the generating function to be

$$\frac{2t}{e^t + 1} e^x(t) = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}, \quad (\text{see [4, 17]}).$$

When  $x = 0$ .  $G_n = G_n(0)$  are called the *Genocchi numbers*.

The properties and applications of the Genocchi polynomials and numbers have been investigated in the various field by many researchers. In [1], authors investigated some interesting properties of weighted  $q$ -Genocchi polynomials by using fermionic  $p$ -adic  $q$ -integral on  $\mathbb{Z}_p$ . Luo generalized the Genocchi polynomials which are called the  $q$ -Apostol-Genocchi polynomials and derived an explicit formula and a variety of relations for these polynomials including a differential equation, integral formula and recursive formulas in [14]. Belbachir-Hadj-Rachid defined a mixed polynomials which are called the Euler-Genocchi polynomials and found some properties including the expression of the power of a variable, the Raabe-like formula, the linear recurrence and the difference equations (see [2]). In [12], authors investigated the properties of degenerate Genocchi polynomials of higher-order by using  $\lambda$ -umbral calculus, and in [6], authors defined a new type generalized Genocchi polynomials which were called the degenerate poly-Genocchi polynomials with the degenerate polylogarithm function and derived some new explicit expressions and identities of those polynomials.

For a given  $\lambda \in \mathbb{R} - \{0\}$ , the *degenerate exponential function* is defined to be

$$(1) \quad e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad e_{\lambda}(t) = (1 + \lambda t)^{\frac{1}{\lambda}}, \quad (\text{see [3]}).$$

In [13], Lim defined the degenerate Genocchi polynomials of order  $r$  as follows:

$$\sum_{n=0}^{\infty} G_{n,\lambda}^{(r)}(x) \frac{t^n}{n!} = \left( \frac{2t}{e_\lambda(t) + 1} \right)^r e_\lambda^x(t), \quad (|t| < \pi).$$

For  $k_1, k_2, \dots, k_r \in \mathbb{Z}$ , the *multiple polylogarithm function* is defined by

$$(2) \quad Li_{k_1, \dots, k_r}(x) = \sum_{0 < n_1 < \dots < n_r} \frac{x^{n_r}}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}}, \quad (\text{see [8, 18]}).$$

In particular,  $Li_1(x) = -\log(1-x)$ .

By (2), we note that

$$(3) \quad \begin{aligned} \frac{d}{dx} Li_{k_1, \dots, k_r}(x) &= \frac{d}{dx} \sum_{0 < n_1 < \dots < n_r} \frac{x^{n_r}}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}} \\ &= \frac{1}{x} \sum_{0 < n_1 < \dots < n_r} \frac{x^{n_r}}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r-1}} \\ &= \frac{1}{x} Li_{k_1, \dots, k_{r-1}}(x), \end{aligned}$$

and by (3), we see that

$$(4) \quad \begin{aligned} \frac{d}{dx} Li_{k_1, \dots, k_{r-1}, 1}(x) &= \sum_{0 < n_1 < \dots < n_r} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}} n_r^{n_{r-1}+1}} \sum_{n_r=n_{r-1}+1}^{\infty} x^{n_r-1} \\ &= \sum_{0 < n_1 < \dots < n_{r-1}} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}}} \frac{x_{n_{r-1}}}{1-x} \\ &= \frac{1}{1-x} Li_{k_1, \dots, k_{r-1}}, \end{aligned}$$

and thus

$$(5) \quad Li_{k_1, 1}(x) = \int \frac{1}{1-x} Li_{k_1}(x) dx, \quad (\text{see [8]}).$$

By (5) and induction, we see that

$$(6) \quad \underbrace{Li_{\underbrace{1, 1, \dots, 1}_{r\text{-times}}}}(x) = \frac{(-1)^r}{r!} (\log(1-x))^r, \quad (r \in \mathbb{N}).$$

(see [8]).

For nonzero integers  $n$  and  $k$ , the *Stirling numbers of the first kind*  $S_1(n, k)$  and *Stirling numbers of the second kind*  $S_2(n, k)$ , respectively, are given by

$$(7) \quad (x)_n = \sum_{k=0}^n S_1(n, k) x^k \quad \text{and} \quad x^n = \sum_{k=0}^n S_2(n, k) (x)_k, \quad (\text{see [4, 17]}),$$

where  $(x)_0 = 1$ ,  $(x)_n = x(x-1)\dots(x-n+1)$ ,  $(n \geq 1)$  is the falling factorial sequences. By (7), we can derive easily the followings (see [4, 17])

$$(8) \quad \frac{1}{k!} (\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad \text{and} \quad \frac{1}{k!} (e^t - 1)^k = \sum_{n=k}^{\infty} S_2(n, k) \frac{t^n}{n!}.$$

The generalizations of various special functions using the multi poly-logarithm function have been attempted actively by many researchers (see [5, 7, 8, 9, 10, 11, 15, 16, 18]).

In this paper, we defined a degenerate multi-poly-Genocchi polynomials and numbers by using multiple polylogarithm function and degenerate exponential function and derived some interesting identities which are related to the falling factorial functions, Stirling numbers of the second kind and Genocchi polynomials.

## 2. MULTI-POLY-GENOCCHI POLYNOMIALS AND NUMBERS

By (2), we define the *degenerate multi-poly-Genocchi polynomials* which are defined by the generating function to be

$$(9) \quad \sum_{n=0}^{\infty} G_{n,\lambda}^{(k_1, \dots, k_r)}(x) \frac{t^n}{n!} = \frac{2^r Li_{k_1, \dots, k_r}(1 - e^{-t})}{(e_\lambda(t) + 1)^r} e_\lambda^x(t).$$

When  $x = 0$ ,  $G_{n,\lambda}^{(k_1, \dots, k_r)} = G_{n,\lambda}^{(k_1, \dots, k_r)}(0)$  are called the *degenerate multi-poly-*

*Genocchi numbers*. Note that, by (6),  $G_{n,\lambda}^{\overbrace{(1, \dots, 1)}^{r\text{-times}}}(x) = \frac{1}{r!} G_{n,\lambda}^{(r)}(x)$ .

By the definition of degenerate multi-poly-Genocchi polynomials, we get

$$(10) \quad \begin{aligned} \sum_{n=0}^{\infty} G_{n,\lambda}^{(k_1, \dots, k_r)}(x+y) \frac{t^n}{n!} &= \frac{2^r Li_{k_1, \dots, k_r}(1 - e^{-t})}{(e_\lambda(t) + 1)^r} e_\lambda^{x+y}(t) \\ &= \frac{2^r}{(e_\lambda(t) + 1)^r} Li_{k_1, \dots, k_r}(1 - e^{-t}) e_\lambda^x(t) e_\lambda^y(t) \\ &= \left( \sum_{n=0}^{\infty} G_{n,\lambda}^{(k_1, \dots, k_r)}(x) \frac{t^n}{n!} \right) \left( \sum_{n=0}^{\infty} (y)_{n,\lambda} \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} G_{n-m,\lambda}^{(k_1, \dots, k_r)}(x) (y)_{m,\lambda} \right) \frac{t^n}{n!}. \end{aligned}$$

By (10), we obtain the following theorem.

**Theorem 2.1.** *For each nonnegative integer  $n$ , we have*

$$G_{n,\lambda}^{(k_1, \dots, k_r)}(x+y) = \sum_{m=0}^n \binom{n}{m} G_{n-m,\lambda}^{(k_1, \dots, k_r)}(x) (y)_{m,\lambda}.$$

In the special case  $y = 0$  of Theorem 2.1, we obtain the following corollary.

**Corollary 2.2.** *For each nonnegative integer  $n$ , we have*

$$G_{n,\lambda}^{(k_1, \dots, k_r)}(x) = \sum_{m=0}^n \binom{n}{m} G_{n-m,\lambda}^{(k_1, \dots, k_r)}(x)_{m,\lambda}.$$

Note that

$$\begin{aligned}
 & \sum_{a=1}^{\infty} \frac{(1-e^{-t})^a}{(a+b)^k} = \sum_{a=1}^{\infty} \frac{a!}{(a+b)^k} \frac{1}{a!} (1-e^{-t})^a \\
 & = \sum_{a=1}^{\infty} a!(a+b)^{-k} \sum_{l=a}^{\infty} (-1)^{l-a} S_2(l, a) \frac{t^l}{l!} \\
 (11) \quad & = \sum_{a=1}^{\infty} a! \sum_{m=0}^{\infty} (-1)^m \binom{k+m-1}{m} b^m a^{-k-m} \sum_{l=a}^{\infty} (-1)^{l-a} S_2(l, a) \frac{t^l}{l!} \\
 & = \sum_{m=0}^{\infty} (-1)^m \binom{k+m-1}{m} \sum_{l=0}^{\infty} \sum_{a=1}^{l+1} \frac{a! (-1)^{l+1-a} S_2(l+1, a)}{l+1} a^{-k-m} \frac{t^l}{l!}.
 \end{aligned}$$

By (11), we get

$$\begin{aligned}
 (12) \quad & \sum_{n=0}^{\infty} G_{n,\lambda}^{(k_1, \dots, k_r)}(x) \frac{t^n}{n!} = \frac{2^r Li_{k_1, \dots, k_r}(1-e^{-t})}{(e_\lambda(t)+1)^r} e_\lambda^x(t) \\
 & = \frac{2^r e_\lambda^x(t)}{(e_\lambda(t)+1)^r} \sum_{0 < n_1 < n_2 < \dots < n_{r-1}} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}}} \sum_{n_r=n_{r-1}+1}^{\infty} \frac{(1-e^{-t})^{n_r}}{n_r^{k_r}} \\
 & = \frac{2^r e_\lambda^x(t)}{(e_\lambda(t)+1)^r} \sum_{0 < n_1 < n_2 < \dots < n_{r-1}} \frac{(1-e^{-t})^{n_{r-1}}}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}}} \sum_{n_r=1}^{\infty} \frac{(1-e^{-t})^{n_r}}{(n_r+n_{r-1})^{k_r}} \\
 & = \frac{2t}{e_\lambda(t)+1} e_\lambda^x(t) \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \sum_{i=0}^{\infty} G_{i,\lambda}^{(k_1, \dots, k_{r-1}-m)}(x) \frac{t^i}{i!} \\
 & \quad \times \sum_{l=0}^{\infty} \sum_{n_r=1}^{l+1} \frac{n_r! (-1)^{l+1-n_r} S_2(l+1, n_r)}{l+1} n_r^{-k_r-m} \frac{t^l}{l!} \\
 & = \left( \sum_{n=0}^{\infty} G_{n,\lambda} \frac{t^n}{n!} \right) \left( \sum_{k=0}^{\infty} \sum_{l=0}^k \sum_{n_r=1}^{l+1} \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \binom{k}{l} \right) \\
 & \quad \times \frac{n_r! (-1)^{l+1-n_r} S_2(l+1, n_r)}{l+1} n_r^{-k_r-m} G_{k-l,\lambda}^{(k_1, \dots, k_{r-1}-m)}(x) \frac{t^k}{k!} \\
 & = \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \sum_{l=0}^k \sum_{n_r=1}^{l+1} \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \binom{k}{l} \binom{n}{k} \right) \\
 & \quad \times \frac{n_r! (-1)^{l+1+n_r} S_2(l+1, n_r)}{l+1} n_r^{-k_r-m} G_{k-l,\lambda}^{(k_1, \dots, k_{r-1}-m)}(x) G_{n-k,\lambda}(x) \frac{t^n}{n!}.
 \end{aligned}$$

By (12), we obtain the following theorem.

**Theorem 2.3.** For each nonnegative integer  $n$ , we have

$$\begin{aligned}
 G_{n,\lambda}^{(k_1, \dots, k_r)}(x) & = \sum_{k=0}^n \sum_{l=0}^k \sum_{n_r=1}^{l+1} \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \binom{k}{l} \binom{n}{k} \\
 & \quad \times \frac{n_r! (-1)^{l+1+n_r} S_2(l+1, n_r)}{l+1} n_r^{-k_r-m} G_{k-l,\lambda}^{(k_1, \dots, k_{r-1}-m)}(x) G_{n-k,\lambda}(x).
 \end{aligned}$$

If we replace  $k_r$  by  $-k_r$ , then we obtain the following corollary.

**Corollary 2.4.** *For each nonnegative integer  $n$ , we have*

$$G_{n,\lambda}^{(k_1,\dots,-k_r)}(x) = \sum_{k=0}^n \sum_{l=0}^k \sum_{n_r=1}^{l+1} \sum_{m=0}^{\infty} (-1)^m \binom{k_r}{m} \binom{k}{l} \binom{n}{k} \\ \times \frac{n_r!(-1)^{l+1+n_r} S_2(l+1, n_r)}{l+1} n_r^{k_r-m} G_{k-l,\lambda}^{(k_1,\dots,k_{r-1}-m)}(x) G_{n-k,\lambda}(x).$$

Note that, by (11), we see that

$$(13) \quad \sum_{n=0}^{\infty} \left( G_{n,\lambda}^{(k_1,\dots,k_r)}(x+1) + G_{n,\lambda}^{(k_1,\dots,k_r)}(x) \right) \frac{t^n}{n!} = \frac{2^r Li_{k_1,\dots,k_r}(1-e^{-t})}{(e_\lambda(t)+1)^{r-1}} \\ = \frac{2^r e_\lambda^x(t)}{(e_\lambda(t)+1)^{r-1}} \sum_{0 < n_1 < \dots < n_{r-1}} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}}} \sum_{n_r=n_{r-1}+1}^{\infty} \frac{(1-e^{-t})^{n_r}}{n_r^{k_r}} \\ = \frac{2^r e_\lambda^x(t)}{(e_\lambda(t)+1)^{r-1}} \sum_{0 < n_1 < \dots < n_{r-1}} \frac{(1-e^{-t})^{n_{r-1}}}{n_1^{k_1} n_2^{k_2} \dots n_{r-1}^{k_{r-1}}} \sum_{n_r=1}^{\infty} \frac{(1-e^{-t})^{n_r}}{(n_r+n_{r-1})^{k_r}} \\ = \frac{2^r e_\lambda^x(t)}{(e_\lambda(t)+1)^{r-1}} \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} Li_{k_1,\dots,k_{r-1}-m}(1-e^{-t}) \\ \times \sum_{l=1}^{\infty} \sum_{n_r=1}^l n_r! (-1)^{l-n_r} n_r^{-k_r-m} S_2(l, n_r) \frac{t^l}{l!} \\ = 2 \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \sum_{i=0}^{\infty} G_{i,\lambda}^{(k_1,\dots,k_{r-1}-m)}(x) \frac{t^i}{i!} \sum_{l=1}^{\infty} \sum_{n_r=1}^l n_r! (-1)^{l-n_r} n_r^{-k_r-m} S_2(l, n_r) \frac{t^l}{l!} \\ = \sum_{n=1}^{\infty} \left( 2 \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \sum_{l=1}^n \sum_{n_r=1}^l \binom{n}{l} n_r! (-1)^{n_r} n_r^{-k_r-m} S_2(l, n_r) G_{n-l,\lambda}^{(k_1,\dots,k_{r-1}-m)}(x) \right) \frac{t^n}{n!}.$$

By (13), we obtain the following theorem.

**Theorem 2.5.** *For each positive integer  $n$ , we have*

$$G_{n,\lambda}^{(k_1,\dots,k_r)}(x+1) + G_{n,\lambda}^{(k_1,\dots,k_r)}(x) \\ = 2 \sum_{m=0}^{\infty} (-1)^m \binom{k_r+m-1}{m} \sum_{l=1}^n \sum_{n_r=1}^l \binom{n}{l} n_r! (-1)^{n_r} n_r^{-k_r-m} S_2(l, n_r) G_{n-l,\lambda}^{(k_1,\dots,k_{r-1}-m)}(x).$$

### 3. ACKNOWLEDGEMENTS

The authors would like to thank the referees for their valuable and detailed comments which have significantly improved the presentation of this paper.

### 4. FUNDING

This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) NRF-2020R1F1A1A01075658

## REFERENCES

- [1] S. Araci, D. Erdal and J. J. Seo, *A study on the fermionic  $p$ -adic  $q$ -integral representation on  $\mathbb{Z}_p$  associated with weighted  $q$ -Bernstein and  $q$ -Genocchi polynomials*, s, Abstract and Applied Anal., **2011**, Article ID 649248, 10 pages.
- [2] H. Belbachir, B. S. Hadj and M. Rachidi, *On another approach for a family of Appell polynomials*, Filomat, **32**, no. 12, (2018), 4155–4164.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Util. Math., **15**, (1979), 51-88.
- [4] L. Comtet, *Advanced combinatorics: The art of finite and infinite expansions*, D. Reidel Publishing Co., Dorrecht, 1974.
- [5] L. Jang, *A note on degenerate type 2 multi-poly-Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **30** (2020), no. 4, 539-545.
- [6] W. A. Khan, R. Ali, K. A. H. Alzobydi and N. Ahmed, *A new family of degenerate poly-Genocchi polynomials with its certain properties*, J. Funct. Spaces, **2021**, Art. ID 6660517, 8 pp.
- [7] M. S. Kim and T. Kim, *An explicit formula on the generalized Bernoulli number with order  $n$* , Indian J. Pure Appl. Math., **31** (2000), no. 11, 1455–1461.
- [8] T. Kim and D. S. Kim, *A Note on Degenerate Multi-poly-Bernoulli numbers and polynomials*, Appl. Anal. Discrete Math., (to appear).
- [9] D. S. Kim, T. Kim, T. Komnatsu and S. H. Rim, *Multi-poly-Cauchy polynomials*, J. Comput. Anal. Appl., **18** (2015), no. 3, 536–550.
- [10] T. Kim, D. S. Kim and H. Y. Kim and J. Kwon, *A note on degenerate multi-poly-Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **30** (2020), no. 3, 447-454.
- [11] D. S. Kim, H. K. Kim, T. Kim, H. Lee and S. Park, *Multi-Lah numbers and multi-Stirling numbers of the first kind*, Adv. Stud. Contemp. Math. (Kyungshang), **30** (2020), no. 3, 447-454.
- [12] T. Kim, D. S. Kim, J. Kwon and S. H. Park, *Representation by degenerate Genocchi polynomials*, **2022**, J. Math., Art. ID 2339851, 11 pp.
- [13] D. Lim, *Some identities of degenerate Genocchi polynomials*, Bull. Korean Math. Soc., **53**, no. 2, (2016), 569–579.
- [14] Q. M. Luo,  *$q$ -extensions for the Apostol-Genocchi polynomials*, Gen. Math., **17**, no. 2, (2009), 113-125.
- [15] Y. Ma, D. S. Kim, H. Kim, H. Lee, S. Park and T. Kim, *A study on multi-stirling numbers of the first kind*, Fractals, **30** (2022), no. 10, Article Id 2240258.
- [16] M. Ma and D. Lim, *A note on degenerate multi-poly-Bernoulli polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **30** (2020), no. 4, 599-608.
- [17] S. Roman, *The umbral calculus*, Dover Publ. Inc. New York, 2005.
- [18] Y. Simsek, *On the Hermit based Genocchi polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **29** (2013), no. 1, 13-17.

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU UNIVERSITY, 38453, REPUBLIC OF KOREA.

*Email address:* a0417001@daegu.ac.kr